Economics

31l

(318)
Assignment - I
A 9 - 1
(Lessons 1-12)
(Ure 19 12 )
Max. Marks: 20
@ 3P : 20
Note: (i) All questions are compulsory. The marks alloted for each question are given
against each.

feugofy: I gl B SR o AR € | ue &g FEiRd e yee & |qme &y 1Y
g |
(i1) Write your name, enrolment number, Al name and subject etc. on the top of
the first page of the answer sheet.
SR GRADI B YA T8 TR FUR B AR (U] 4, AP, AT bs
@1 A, favd onfe e vl H IRy |

1. Answer any two of the following questions in about 40-60 words: 2x2=4

frforlRaa ueal & O fhgl Q1 Ul & SN 9T 40-60 I<i # ST

a) Categorise the following into Single Use Consumer Goods and Durable Use
Consumer Goods. Give reasons also.

1. Furniture
ii.  Refrigerator
ii. Milk

iv. Television

PRt o) Thel SUANT doIl SEqan IuHTeT awjell | aifipd B |

BRI SR |
i, BHEER
ii. BIoNex
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iii. gy
iv. cellfded

b) Give any two reasons for rightward or outward shift of the production possibility
curve.

SATET JUTEGT I5h & QR AR AT 918 &I AR RaAdd & B &I BRI

QT |

c) List any four main features of Indian Economy as a developing Economy.

farTeliel srefagaRen & wu H YR faawen & fF=l IR g faRyare
B qh YAl SIS |

d) What is sustainable development? Suggest some strategies for the promotion of
sustainable development.

RV A 1 27 aRo f[aer & Yaod @ forl | gidaar geimsd |

2. Answer any two of the following questions in about 40-60 words: 2x2=4

frforlRaa ue=l & O fh=gl Q1 Ul & SN 9T 40-60 I<i § ST

a)  Whatis the Mid -Value of the Class Interval. How is it obtained from class interval?
T RIS BT HEIHA T Bl 27 39 I I=aRT I fhd YR Ut fhan Siran

87

b) What are subsidies? Give any two examples of subsidies from the government
side.

i TR T Bl 8?7 IRBR B MR J fd TerIdl & PIs al ITERTI
QY |

¢) Suggest any two methods of collecting primary data.

TIIHS 3fdel & TUS B & PIg al (Al Femsy |

d) What does the law of demand say? On what assumptions is it based?
AT &1 7199 1 FEal 87 I b ARl W eRd 8?

3. Explain the meaning of domestic income? Explain the components of domestic factor
income? 6

RT3 & 31 Bl ARAT DY | BRe], A AT & g HIT &7

OR/31Yda1
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Differentiate between the following:

1. Intermediate goods and final goods

ii.  Factor Payments and Transfer Payments

iii. Economic activities and Non-Economic activities.

TfIRad H wE BHIY:
i, Aeggdl gegu der 3ifiH vy
i, ST YA AT SRR YA

iii. amfefe wfafaftrar denm IR—anfeie wfafafer

4. Following are the marks of students in Economics. Calculate the arithmetic mean of

Marks by using: Short-Cut Method (Indirect) and Step-deviation Method. 6
Marks No. Of students

0-10 5

10-20 10

20-30 25

30-40 30

40-50 20

50-60 10

fenfeial & e | o/ fFr=faRad €1 oy R (e ) don ue—fagem
fafe &1 U= R §U bl B IBIMORINY AEF DI UM DI |

b faenfefi a W=
0-10 5
10-20 10
20-30 25
30-40 30
40-50 20
50-60 10
OR/3r2ra
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Calculate National Income from the following data:

=1 SNl I LR 3T B IO BHIfSTU—

S.No. | Information Rs. In Crores

%.9. | gal 3. (P H)

1. Wages and Salaries 20,000
SN CUECINIGRE

2. Employer's Contribution to Social Security Schemes 1500
AASTh GRef AT H Fiad &1 Arrar

3. Rent 2000

4. Interest 4500
gTo]

5. Profit 3000
<l

6. Consumption of Fixed Capital 5500
IS Yoll B IYANT

7. Mixed Income 40000
[GIERESID

8. Indirect taxes 6500
STUIE hN

0. Subsidies 500
3 d AR

10. Net factor income from abroad (-) 100
facwi & fFaa |wE m
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Economics

31l

(318)
Assignment - II
1A 9o - 11
(Lessons 13-29)
(urs 139 29 Ih)
Max. Marks: 20
H 3P : 20
Note: (i) All questions are compulsory. The marks alloted for each question are given
against each.

feugofy: I gl B SR o Aard € | ue &g FEiRd o yee & |qme @y 1y
g
(i1) Write your name, enrolment number, Al name and subject etc. on the top of
the first page of the answer sheet.
SR GREADI B UAH T8 W FUR B AR (U] 4, AP, AT ds
B M, favd onfe e el H Ry |

1. Answer any two of the following questions in about 40-60 words: 2x2=4

frforlRaa ueal & O fh=gl Q1 Ul & SN 9T 40-60 Ti # ST

a)  What are the causes of rightward shift in supply curve? (Any four causes).

AMYfT T & Il IR Redgd & 1 SR 87 (P IR BRI

b) Classify the following expenditure into explicit cost and Implicit cost with reasons
in support of your answer:-

(1) Interest on external borrowing.
(i1) Use of owner occupied building for office.
(i11) Salaries and wages

(iv) Owner himself working as a consultant for his office.

U IR DI Y & o dRUl Afed Fr=ferRaa @1 e don [Hfd a3
Tpd BIT:
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() dET R R A

(i) PRI B ol TT—HIfaST Wad BT TN

(iii) a9 AR AT

(iv) M BT 0 BT § I WREAIE ® ®U H B 6T |

c¢) Distinguish between fixed cost and variable cost giving suitable examples.
SUGdd IQTexU GbX Al T Td =T Y T AT H '3}[3 3 EQ|

d) Give any four causes of low productivity of agricultural land.

P B 14 ITURHA & PIg IR HROT ST |

2. Answer any two of the following questions in about 40-60 words: 4

frforlRaa ue=l & O fh=gl Q1 Al & SN 9T 40-60 I<i H ST

a) What are the three measures of revenue? Explain them with their mathematical
formula.

MM & I A06 HIFI—hF A &7 39! MO JF Aled AR SIS |

b) Classify the following receipts as Revenue receipts and Capital receipts with
reasons:-

(i) Borrowings
(i) Sales tax
(ii1) Disinvestment

(iv) Dividends and Profits of public sector undertaking

SR Aied FrefaRad wiitadi @1 Tora gt den goia aifedi § aifiepd
DI |

(i) SYR o

(i) IR

(i) fafesrr

(iv) ATESI=® &5 & SUBHAT B AT qAT AT

c) State any four objectives of Economic planning in India.

TRT § Mp—e & fh=l IR ST BT Ioolkg BT |

d) State any four Problems of Public sector enterprises.

TSI~ &5 & ITA] Bl fhl IR FARIRN B Sl DI |
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3. The following data represent a business in operation. 6

o erps e aa &1 yfdffa axd @

Output/Sales Total Revenue Total Costs
(units) (Rs) (Rs)
I<ure/fasa qel I Hel AN
(3rsai) (®.) (%.)
0 0 20
1 100 60
2 180 110
3 240 170
4 280 240
5 300 320
6 300 410
7 280 510
8 240 620
Calculate the following:
=1 &1 o ST
a.  Average revenue
IRTA 3H
b.  Marginal revenue
AT 3T
c. Profit
<lH
d. Marginal cost
KIEESESIRG
e. Average cost
SIRGECIN]
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OR/31Yda1

What do you understand by Population Explosion? Suggest three measures to solve the
problem of Population Explosion.

ST favple | 31T R’ FHed 87 WE] favhie & J9T Bl 8ol B B
fory fh=gl 9 SUrdl & IRAT BITOIY |

4. The following table shows the sales and revenue data for a firm selling its product. 6

=1 arfetet o19= Scure ®l 99 dTell U HH & fdshd T 3H & bS] Bl

ECANC G
Sales Price
(units) (Rs.)
fasa (srsan) e (%)

0 200
1 180
2 160
3 140
4 120
5 100
6 80
7 60
8 40

Find out the firm's TR, MR and AR over this range of output.
IAEd & 39 fIdR @ ol TR, MR @21 AR S0 HITSTQ |

OR/3Yda1

Explain the institutional measures to increase the productivity in agriculture.

PN IAEHA H dlg BT @ (o TN IURT D IRAT DIIY |
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Economics

31l

(318)
Assignment - III
qa1dA 9o - 111
(Project Work)
(aRaSTT )
Max. Marks: 20
H 3P : 20

Note: (i) Attempt any one project from the list of five projects given below:
fewofi: A Q8 Ui aRATSRI @ gl H W DIS UH RIS IR SIS |
(i1) Write your name, enrolment number, Al name and subject etc. on the top of
the first page of the answer sheet.
SR GREADI B YA T8 TR HUR B AR (U] ¥, AP, AT bs

&1 7, favy anfe W oret § forRau |

1. Visit any Bank in your nearby locality. Find out the various types of accounts in which
they accept deposits from general public. Also prepare a list of documents (mandatory)
that are required for opening any of these accounts. Prepare a project report on the basis
of your survey in about 250 words.

AU TS @ el 9% # gV | S fAfi YR @ @l & 9R H MR U
IR RIH 9 TTAERY ¥ ST TR G © | 89 Sl (@1ard) &1 g2
TR P 8T Maeghdl 398 A fhdl W &1 Wiad d gsdl © | 379 JJeTo
D YR TR I 250 @] § UHh gRANSH RUlé TaR B |

2. Visit any market of your locality and enquire about the prices of Current year (2012)
and previous year (2011) of the following commodities:

O TR & el IR A S8y SR Fr=faRad awgeli @ gaferd av (2012)
TAGY (2011) BT DA S IR H STHBRI U DI |
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S.No. Commodities Units Price Price

%4 9. EiS Y SIS CIL G| CIL G|
2011 2012
1 Sugar Kilogram
ElRll feretramd
2 Edible oil Litres
EEIBAGK forex
3 Potato Kilogram
SIS fharar
4 Onion Kilogram
S feetram
5 Pulses Kilogram
&Tel feretram

On the basis of your survey prepare a project report in about 250 words.

IO FAETUT B MR TR I 250 ] H Udh IRATSHT RUIE IR HIFU |

3. Visit any greengrocer shop in your locality and enquire about the demand of different
consumers or households at different prices of at least two vegetables. With the help of
information collected by you prepare the following:-

(i) Individual demand schedule

(i1)) Market demand schedule

U R H bl Teoll aTel Bl b WR SIS TAT BH A HH &l Afeordl B a1
Al TR I IRl erar aRaRl gR1 A= aHal W) A9 & vy |
TSR U BINTY | MU §RT FIfRd Faq1 & R R F=faRad TR STy
(i) fdeId AT drfeldl

(i) dOIR AR drferdT

4. Determine the Profit maximisation level of output of a firm by comparing its marginal
revenue and marginal cost. For this you are required to take any imaginary figures of
marginal revenue and marginal cost in rupees and with the help of figures you are
required to determine the profit maximisation level.

Prepare a project report in about 250 words on the basis of your survey.
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Bl BH & AT I T2l WA AR &l ol & §RT SAD DA o4 &
I wWR 1 R DR | 39a ol Mud! Sudi § WA= IH oIl JiHr=d
AT & BIAD TIN oI BT MaIHdT B TAT B9 GEARN B FERIdl A
JMID! IfAHTH A & IUTET WR Bl LR BRAT 8 |

U LTI & IMIR TR oI 250 Iea] § Yb RIS RUid IR IR |

Visit any village or agriculture field of any nearby locality and enquire about the problems
faced by farmers there. With the help of information and your survey prepare a list of
inputs required by farmers including machinery. Suggest some ways with the help of
discussion with farmers to improve the productivity of land as well as labour.

Prepare a project report in about 250 words on the basis of your survey.

3O AT & Bl 9 31a1 HH—HH R A1 R 981 R fFaH & T9F
3T aTell TR & A § SR UT BRI | U a1 AR e & AR
R fHAFT §RT WART &1 S dTell /i1 Afed STl &1 &l TR diford | far
@ QY AR—{IHe & 4 q ST B IARHA H IR IR B ol O
SURI AT | AU FA&ToT & YR UR 9T 250 Tl H e uRATST1 RUIE TR
P |
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